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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

dFVvi
dFVo

——
+

65.0

62.5

60.0

57.5

55.0

52.5

50.0

47.5

45.0

day

—&— DUC

65.0

62.5

60.0

57.5

55.0

52.5

50.0

47.5

45.0

day

—@— FRV

65.0

62.5

60.0

57.5

55.0

52.5

50.0

47.5

45.0

day

—@— FRC

0. 04 -
0.02 -
0. 00 -
0. 02 -
~0. 04 -

278
277
276
275 -
274
273

179. 0
178.5 1
178. 0
177.5 A
177.0 A
176. 5
176. 0 1

0. 6454 -
0. 6452 -
0. 6450 -
0. 6448 -
0. 6446 -

65.0

62.5

60.0

57.5

55.0

52.5

50.0

47.5

45.0

day



Plot EC/PH from runoff

Warning: col ['FVIEC1 _E', 'FVOEC1_E2'] missing
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r—o',
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Trend plot forP3-1_0
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P3-1

BrE) | GEBATK (F) | EHRE(EH/AR) | EREE (G/R) [ KR R

08:10 283 150.0 2.583 5| FEAC08:10 KEFEF (RAMEEE)
08:55 283 150.0 2.583 5| FHA@08:55 KENFEF (kA{EEIEE)
09:40 283 150.0 2.583 5| FHA@09:40 KENFEF (GRAIERENEE)
10:30 283 150.0 2.583 5| FEAe10:30 KEIEFE CGRAEESE)
11:15 283 150.0 2.583 = FHA@11:15 KRENFZEF (GRAEEE)
12:00 283 150.0 2.583 | FiHfe12:00 KEIFEF (REAERS)
12:45 283 150.0 2. 583 5| FHAe12:45 KEIEFE CGRAFESE)
13:30 283 150. 0 2.583 E(  FiHRe13:30 KREFEF (CGRAMERE)
14:15 283 150.0 2.583 5| FHAe14:15 KHEF (RKAERESE)
15:00 283 150.0 2. 583 5| FEAe15:00 KEFEFE CGRAFESE)
15:50 283 150.0 2.583 5| FHA@15:50 KENFEF (CGRA{EEEE)
23t 3113.0 (11)%) 1650.0 3 HKEC: 2080.0, PH: 5.6

[E;&REC 5380.0 K5, EiNF{KECAE&M%ER
#[EKECZE (1907.0 vs 5380.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-1_0, Day=65 (2025-06-02)
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P3-1

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS e

09:05 273 150. 0 2.583 |Z=&| 1BRi&@09:05 Bzl (RAERE)
10:05 273 150. 0 2.583 |Z=| {Ri&e10:05 Bz (REEHE)
12:25 273 150.0 2.583 FR| {Ri%@12:25 Bzl (GGRAERE)
13:25 273 150.0 2.583 PH| 1{Ri%e@13:25 B (RAHEES)
14:20 273 150.0 2.583 FA| {Ri%@14:20 Bz (GGRAEEE)
2it]1365.0 (5%) 750.0 323K EC: 2080.0, PH: 5.6

large discrepency for begining water status (392:48.0), set to 392 ml
[ /&EC 6213.0 K&, EiIUAKECAAIMIAER
BE[EIRECE (2007. 0 vs 6213.0) i 5
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P3-1

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS R

07:20 278 150.0 2.583 FA| 1B2i%@07:20 Bzh (kAB{EREEE)
08:20 278 150. 0 2.583 FA| 1BRi%@08:20 B3zh (KA{ERESE)
09:20 278 150.0 2.583 FA| {Ri%@09:20 Bz (RAMEEEE)
10:20 278 150. 0 2.583 FA| 1B2i%@10:20 B3h (RA{EREE)
11:20 278 150.0 2.583 FA| 1Bi%@11:20 B3h (kAERE)
13:40 278 150.0 2.583 | K/| {Ri&e13:40 Bzl (REEHSE)
Bit]1668.0 (6%) 900.0 32 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (345:129.0), set to 345 ml.
[2]/REC 6960.0 K&, #iUAKECHAIMIAERR
P [ERECE (2087.0 vs 6960. 0) 33 5
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P3-1_0, Day=63 (2025-05-31)
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P3-1

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

07:20 278 150.0 2.583 FA| {Ri%@07:20 Bz (GkAEEE)
08:05 278 150.0 2.583 FA| {Ri%@08:05 Bz (kAMEEE)
08:50 278 150.0 2.583 FA| 1BRi&@08:50 B3h (FKA{EREEE)
09:35 278 150.0 2. 583 FA| {Ri%@09:35 Bz (RA{EEE)
10:20 278 150. 0 2.583 FA| 1BRi%@10:20 B3h (RA{ERESE)
11:15 278 150.0 2.583 FA| {Ri&e11:15 Bzl CGRAEEE)
11:55 278 150.0 2.583 FA| {Ri%@11:55 Bz CGRAERE)
12:35 278 150.0 2.583 FA| {Ri&@12:35 Bz (GRAEESE)
13:15 278 150.0 2.583 FA| 1BRi%@13:15 B3h (KRAHERSE)
14:00 278 150.0 2.583 FH| 1Ri&e14:00 Bzh (GRAEREE)
15:10 278 150.0 2.583 FA| {Ri%@15:10 Bz (CGRAEESE)
16:30 278 150. 0 2.583 PH| 1{Ri%e16:30 Bz (KRAHFERESE)
24t 3336.0 (12)%) 1800. 0 3ZHKEC: 2080.0, PH: 5.6

large discrepency for begining water status (389:87.0), set to 389 ml

[ /&EC 7247.0 K&, EIURKECAAIMIAER
#EEIRECE (2220.0 vs 7247.0) 537
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P3-1_0, Day=62 (2025-05-30)
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P3-1

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:25 273 150.0 2.583 F BRige07:25 Bz (GREERSE)
08:00 273 150.0 2.583 5| {Ri%@08:00 Bz (KRAAERSE)
08:35 273 150. 0 2.583 E  1BRi&%e08:35 Bai (RAERE)
09:25 273 150.0 2.583 (Z=| {Ri%@09:25 Bz (FAERHSE)
10:10 273 150.0 2.583 (x| 1Ri%@10:10 Bz (RAERSE)
10:55 273 150. 0 2.583 |Z=&| 1BRi&e10:55 Bzl (GRAERE)
11:40 273 150. 0 2.583 |Z=| {Ri&e11:40 Bz (GREERSE)
12:20 273 150.0 2.583 (Z=| 1Rige12:20 B3 (RAERSE)
12:55 273 150.0 2.583 (Z=| {Ri%e12:55 Bz (REAEHSE)
13:30 273 150.0 2.583 5| {Ri%e13:30 B3 (RAERSE)
14:00 273 150.0 2.583 =l RRiB014:00 B (RFAEESE)
14:30 273 150. 0 2.583 E BRige14:30 Bz CGRAERESE)
15:05 273 150. 0 2.583 El 1BRi&e15:05 Bz CGRAEREE)
15:40 273 150.0 2.583 =l RRiB015:40 Bz (RFAEESE)
16:35 273 150.0 2.583 (Z=| {Ri%e16:35 Bz (KRAEHSE)
21t] 4095.0 (15)%) 2250. 0 3203 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (302:112.0), set to 302 ml.
[B]/&EC 7363.0 K&, EiIUAKECAAIMIAER
BE[EIRECE (2323. 0 vs 7363.0) i 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=61 (2025-05-29)
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